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S aH
HHE: JatH 2H
CHRl: CHAHEH AP H Y| Chel: ® &)
SA BB (SH) - NRAY - B ﬁlgﬁ HRE2
CHARSE FH AR 74,871 78,585 N3, 714
101 Q124 H] 5,991 5,949 42
04 JI2ZtHIZ22NEE S 5,991 5,949 42
OkzH Z222e 60,540 x5 x6. 8Km 2,059
O&EzH H=x=&g 60,540 x3H 8. 8Km 1,599
O AY o1l 38,880 1 x60L 2,333
201 2Et2H Y| 30,244 12,000 18,244
01 AP 2t 2] H| 18,244 0 18,244
OB3H=E=Z AW AEIXZAI 29H| 2,244
OXNXAEHY 2 16,000
02 B232%H| 12,000 12,000 0
O2232=2 % HA 6,000
O 24| 4,000
OA&E & HI KX Y| 2,000
206 M = Hl 7,436 7,436 0
01 X2 4| 7,436 7,436 0
OBZ ZAZXH L 24 2A 500
Ogd9ALs RFRH(ESR) 1,785 x3,500¢ 6,248
OteAS S2H(FYR) 1,965& *3504 688
307 2Iz2t0| & 1,200 1,200 0
05 QIZ2tR EF 2 1,200 1,200 0
OFAMNLRQIIH 24| 100,000 x12& 1,200
401 AlEHIZL £ 0HY| 30,000 52,000 A 22,000
01 Al&EH| 30,000 52,000 A 22,000
OXXIAIHE XISHE &L HEEM 30,000
HAE2H A 84,141 104,139 A 19,998
olad 2 A Y| 26,786 24,249 2,537
At ol A Y| 26,786 24,249 2,537
101 @121 d] 26,786 24,249 2,537
03 RIAHLZ2ZZ2XE S 26,786 24,249 2,537
OgeeExXx(1y) 26,786
o Jle2 1,015,740 x12& 12,189
PO = 12,188,880 /12 *400% 4,063
WESE X&H| 120,000& »12& 1,440
oM ZAlH| 130,000 x12& 1,560
NE LRSS
6,552 x15A| 2t*1 58 x 12 1,770
HESIHHI (A&, 5=4) 1,015,740& x120% 1,219
o D82 Al 52,416 x10L 525
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